AEPOMNAANO

thesi = int(input("Dose arithmno thesis "))
timi = int(input("Dose timi eisitiriou "))
if thesi>=10:
nea_timi =timi+7/
else:
nea_timi = timi+3
print("H nea timi einai ", nea_timi)

NANENIZTHMIO

foitites = int(input("Dose aithmo foithton "))
didaktra = int(input("Dose didaktra "))
kathigites = int(input("Dose kathgites "))
mis = int(input("Dose mistho "))
esoda = foitites * didaktra
exoda = kathigites * mis
if esoda>=exoda:
synolo=esoda - exoda
print("Kerdos ",synolo)
else:
synolo=exoda - esoda
print("Zhmia-",synolo)



